Higher Mathematics Topic 9 - Integration

Outcome 1 - Solving Differential Equations

Example
f

Example...

A curve for which :—: =3x*+4
passes through the point (-1, B).
Express y in terms of x.

y=’ 3x%2 + 4 dx

y=x+4x+c

1. Integrate
b=-1-4+c 2. Sub the
_54¢ c=10 point in

y=x+4x+ 10

o vy

Questions

Outcome 1 - Solving Differential Equations

Solve the following differential equations...

- g =7 — 6x passing through (2, 1).

Express y in terms of x.

f'(x) = 8x3 + 9 passing through (1, 9).
Find f(x).

d

®e —=3x°—8x passing through (-1, 5).

Express y in terms of x.

& f'(x) = 5x% + 11x + 2 passing through (0, 0).

Find f(x).

dy :
=1 é =x3 4 xiﬁ —é passing through (1, 4).

Express y in terms of x.
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Answers

- y=7x—3x*-1
f(x)=2x*+9x—2

y=x>—4x%+10

_5x3 11x? )
“ f(X)—T-F 5 + 2Xx
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